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All who go out to the  — JN@WRY 2015 NS LA 717 D92 NRARPRY KX 9D
wars of 797 n°2 would write a writ of divorce to his wife

OVERVIEW

The X3 explained that 717 did not transgress the M0°X of WX nwX with ¥yaw n3,
since all who went to wage the battles of T17 would write a mn»> v3 to his wife
(and that included 7°7X, the [former] husband of ¥aw n1). There is a disagreement
between > and Mo0I1n how this divorce was effective.

- 112509 NYWN V) XA THNNYNI MN® OXY DIVNPA Y
»'"w explained that they would give the 3 with a stipulation, that if he will die in

the war the w3 should be effective retroactively from the time it was written and
delivered to the wife.

Mmoo has a difficulty with >"w99:
- D297 W 02390 PRV Y NN 93N1) RY ON N¥N U3 INN 31: ONT 0N 13°299 NYPY

And the n'9 has a difficulty with >'"w=p, for if indeed it is so, why is it that
‘everyone who went out to war’ wrote this 03, since it is of no use except for

someone who has no children and there is a 223% (the deceased’s brother). However
anyone who has a child or has no brother there is seemingly no need for them to write a n1n°73 0
1MWK, since there can be no 012° 27°71.

mdoINn has an additional question on >"w72:
- ‘oon IMIND NP NI (v §,Hy P INRY 210D 1PNT NIV
And in addition we learnt in a 712% in ¥IRW "% P95, ‘what is she in those days -
= 1199324 Y9 YIN HYNI NN 991 99IN NN ra9
"9 says she is like a married woman regarding everything. n1so1n now explains

what is meant by 2177 10X -
— NRNODINA $YM 199 5NN DX DPNN TV DT 397 N3 9I¥Y 5INPT INAN IND)

"'However if he returns from the war, the v is void and it is as if there never was a v3 at all.
* The reason for enacting this process is to protect these woman whose husbands have no children, that if their
husbands die in the war, they will not be required to go through the 7%°5m 0127 process, since they are divorced prior
to their husband’s death. See shortly in n1voIN.
? Mpon assumes that since *"w7 mentions the stipulation of death, it indicates that the reason for this custom is on
account of 012° as explained in footnote # 2.
* Mmoo will shortly explain that o»°7 J0Xa refers to a woman who received a vx with this aforementioned type of
stipulation. We are discussing the period after the 03 was given and before the stipulation was fulfilled.
> The previous 1I¥N in PY on X,2Y states VA 1" "1 T pralytalelalatialiyial TP AT N1 VA T NN OR PWIYA NN R D1,
69" 1703, where it states 7717° " 127 121 TNRCXMA2 ORIT 7Y DON1AW 200 731 09N 0D OX 31D U .
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And the phrase a1 10 is referring to that which was taught in a mwn»
previously, where a man said to his wife, ‘here is your w3 from today, if I die’;

and so it seems in the XNDOIN that 07 1NN refers to a case where he said avan v 1"
nn ox, and regarding this case > says that she is 79727 957 K"K -
- 70713 WIN NUN NHN BN INT 2) 9Y N NIIX

It is evident that even though he said the v should be effective from today,
nevertheless she is a complete X" —

mooIn cites the s'%M3 explanation why indeed is she 7°727 935 K"R2:
- ©9I93 SINY YN MINA NI WIaNITH

As 727 there explains the view of *"7, that we understand his statement to mean
that the v should be effective from the (last) moment when I am in this world

(when I am still alive) -
=INNM ONP HNN NYY DINYY INYT NON 1919 DINY XY 01NN 9IRT INNY 9\’)1‘1’2

The clarification of this X713 is, that this which he said, ‘from today’, he did not
mean it should become effective immediately (today) in the event that I die, but
rather it his intent that the v should become effective one ‘hour’ before his

death -
= O NIV NYN 10T

For that is what the X711 means when it states that his intention was from the last
moment that he (the husband) is in the world.

mMdoIN responds to an anticipated difficulty: '
- M3 NP B9IPA SINY 0 IMIND Y AN INNY Y0IPNY NIN 01713 9N N9

For he did not say 2y to be taken literally, but rather he said o1nn to exclude
that it should become effective after death, so the meaning of 01777 is that the ©3

7 This means that even if he eventually dies and the va became effective, she is only considered divorced as of an
hour before he died, however up till that hour she is an X"X and if she was 7111 with someone during that time she is
an 7 2 n. According to this, even if 797X gave ¥aw n3 this type of va, she would be considered an X"X at the time 717
was with her, even though 7K died later in battle. At this point Md0I1n assumes that there is no difference whether
he said “nn oX 01n' (as mentioned in the 73wn) or if he said explicitly that it should become effective from the time
of writing (as *"wn words the stipulation). In both cases she is 77727 737 X"X>.
8 530 U
? The term w1 here is rejecting *"w7d there %X 71"7 who writes *IXW N¥» TWIN2 KOX 121 M2 DX AR TR KD Inn
RO WOR DWR RIPOYAY RU™S 220 092 TIM0 0TI 2217 277 03 2 02w, According to *"wo if he actually said ovnn or
woyA (even) 7T " what agree that she is not an 277 10IX2 X"X.
' How can we interpret his word van to mean 0912 IX@ NX»?
"' The husband is merely concerned that if he dies his wife should not be constrained by the @12° process; for this it is
sufficient that the divorce take effect a moment before his death. There is no need it should take effect now.
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should be effective from that very last day that I am in the world.

Moo reconciles *"w1D with that X723 in YA
= AN NYYN DHINY NN WY 01911 122 PUNY W 11919

However one can distinguish between a case where he said >nn oX 2% (the case
in the 71wn where she i1s considered an X"X according to °"9), to a case where he

explicitly specified that it should become effective from the time of writing (as
in the case of M7 72 nanYn [as °"w1 suggests]), where it is logical to assume that the v will

become effective retroactively to the time of 712°n3. The reason for the difference -
- 2193 RNOYW 9NRP N3N NYUN TN YT

For perforce you must say that in this case he certainly said that the vs should
be effective 7712°n> nywn.

mdoIn extends his understanding of >"w71:
= DVNPN YWITD AYWNT W DN NN IDPANT NN TV

And it appears, furthermore, that even if he said 21’7 (and did not explicitly

say 172°N2 nYwn 71w, nevertheless) we can justify >"'wap -
= PRNYNN I NN XD ON 02NN 1PN NIN NNNYNI M1 ORY W9 NPT INDT

For the man does not explicitly say that it should be a 0177 v if he will die in
the war, but rather they would stipulate it should be a 2171 v3, if he will not

return from the war, for whatever reason even if not because of death -
= NHNY 29Y 9NN 1PN NNNDND 11 9N 1INRY ) DNDT NN’ ON DIVIPI VP NPV AIN)

And *"w9 mentioned 'n2° ax', out of habit, for generally one who does not

return from war, the reason he does not return is because he died, but m» ox is

RP17 IRY -
- Baawy ox prh 80 NON

And the same stipulation applies if he was captured that it should be a o1 v -
- TARY 1T XINND FaYIpa 5aNY NYN Y 7Y PR XINT 81NN XY

And now that the stipulation is not *n» aX, therefore the word 217, here in this
case, cannot be interpreted to mean 2%1v2 "IX® nx» as the word ovin there in
VANW 2 P75, where he emphatically said “n» ax a1 -

2 He did not merely say o1, which can be interpreted to mean from the last day I am alive, but he especially said

it should be effective 712°n> nywn; this indicates that it becomes effective retroactively as of 7’11 772°n3 NYw.

" This also answers MmpoIn first question on *"w; how does this 73PN help for someone who has children. The

answer is apparent; everyone wrote a v in case they were captured, so their wives would not remain M1y (unable

to remarry).

' His stipulation is in order to allow her to remarry in case he does not return from war (he was captured, etc.);

nothing is accomplished if his stipulation is 071w *1Xw n&» (since he may still be alive). Therefore he means 1"wovn.
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= 9NRP N3N 0 0NN NON
But rather here the word 21°% means from the day of writing the v3.

nooIn asks:
- %3m0 N 9N 29N 99NN ON)

And if you will say; but /737K returned from the battle, so the vx was nullified —

Mmo0IN answers:
= §)D2Y 9N R 29N NNNINN IV NN XT ONX NINN NINY 90 YU

And one can say; that the stipulation was, if he did not return at the end of the

war then it should be a 017 v, and indeed 77X did not return at the end of the
war; he merely returned during a battle.

mdoIn finds support for >"wAd:
= (0W) N,03 KXY Na2) ANTN P92 19299NRT NN DT WIVAY NN

And according to this interpretation it will be easier understood that which

was said in the name of 717 " in 277357 P95 -
= ©5393 19%20 239 17297 ON) YIN NUN P90 1YW 0TRY 19 NN

It is preferable that a person should be »¥12 a X'"'X poo, than to whiten the face

of his friend (to shame him) in public -
- Yannbmnn im0 XnY11 NI YN NUN HADT YAV NAT AUYN INDND DY Do)

And X217 derives it from this episode with ¥aw n2, who was a XX pp® (when M7

was with her), for perhaps 7% would return from the warj; in which case the va
would be %12 and she would remain an X"X throughout the entire period until his death.

mooin offers an alternate interpretation:
- NN DIV RJ2 »90)7 MN1I5 V) 255 YH91) 0N 1329

And the n''1 explains that he would write a complete nns9> wv» without any
stipulations; the soldiers would divorce their wives, before going to war.

nvoIN asks on N'"B:
- 1811‘1”:) VI NN NN YN NUN PO nY P INIAN NVYP IWINaY

' The stipulation was (as amended by mpon); this is your o va if I do not return from the war; as soon as 7™
returned the v3 is Pv3. However according to our original understanding that it means only fin°» there is no question,
since 1R died (7" w 0"0n).
16 %1 interprets this P109 (in 0,72 2°2°70) which states 117 X?1 WP 1DORI MW *Y2¥ to mean that the people would
ask 717 teasingly what is the rule regarding one who is R"X %¥ X2 and 77 would answer P2 \nn» but  por 17 W
2"myY, however one who is 0°372 17°21 %10 12%7 he has no 2"Mv> Pon, W'y,
"7 See footnote # 18.
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However there is a difficulty with n"5, for why does the X313 in 2717 279 refer

to vaw N1 as a X''R oo, since she was a complete 72113, since she received a v,
without any stipulations.

n90IN answers:
= NYIINA PYIN 1AV 29D WIR NUN PAD AV 9P DN 12929 90IN)

And the n''1 answered that the X713 refers to w"21 as a R''X P20 since they would

divorce their wives privately (without any publicity); the reason was -
- Yowtph 0N %33 DALY I8P ¥ NS ROV

So that it should not be known that these women are divorced, in order to prevent
people from jumping at the opportunity to marry these ‘divorcees’.

moon ask one final question on >"w7d
199709 RPY XD 750 RY 7Y 0ndhy XA TR NYD NYD DIVNDN W99
But there is a slight difficulty on >'"'w=2; how did 77 come on to ¥"2, why was

he not concerned that perhaps "X would return, the vx would then be 02 and w"a
would be an X"X.

SUMMARY

According to >"wA, the MmN 1> Vi was given with a stipulation that it should become
effective as of now if he does not return after the war is over. According to n"79 it
was a final vi without any stipulations.

THINKING IT OVER
1. How are to understand that which nooin states that they were 7vi%a w131?°* The
X773 states that INWRY 2012 NN v 72 NYRY ®X1°T 92; how can it be NUJK:?!23

2. mpon writes that yaw N2 was considered a X"X P90, since they would be waan
v1¥a.>* It is not clear as to who considered her a X"X p90; the people who mocked

'8 However, according to >"w19 it is understood; since there is a poo whether 7> would return 71727 7102 (in
which case she always was an X"X) or if he will not return from the 7nn%n (in which case she was retroactively a
w173 when she was with 717), therefore she is considered a X"X P50.
' The divorcing husbands hoped to return from the war and remarry their former wives. They did not want them to
be nwTpn to others in the meantime, so as not to lose them. See ‘Thinking it over’ # 1 & 2.
0 See ‘Thinking it over’ # 3.
! According to N2 however there is no difficulty for w"a was completely nw 132 as soon as "X went to war.
** See footnote # 19.
> See mnn M.
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77, assumed she was an X7 X"X, and 717 knew she was a w173, so by whom was
there this po0.

3. moon asks on *"w1D how was 7°9Y X2 77 since 71X may return and she will be
an X7 X"X.> How will mooin explain the first answer of the X713 which states that
¥'"2 was not 70X to 77 since it was an 011X. The same question remains, however,
how did 717 allow himself to be oaxn an "X7) X"x?!°°

* See footnote # 19.
3 See footnote # 20.
% See w"wA.
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